CALCOLO I

2 settembre 2008

1. (6 punti)

Si determini la soluzione y(x) del problema di Cauchy

y// +y/ . 6y — 36293

y(0) = -1
y'(0)=1.
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1. (6 punti)

Si determini la soluzione y(x) del problema di Cauchy

y// + 2y/ . 8y — 267433

y(0) = -1
y'(0)=1.
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1. (6 punti)

Si determini la soluzione y(x) del problema di Cauchy

y" — 2y — 15y = 2737

y(0) =1

y'(0)=2.
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1. (6 punti)

Si determini la soluzione y(x) del problema di Cauchy

y//+y/_12y:_e

y(0) =1

y'(0)=1.

3x
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2. (6 punti)
Si calcoli I'integrale

[ (o ramenten) an
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2. (6 punti)
Si calcoli I'integrale

1 o
/_1 (eh’ + 7e® + 12

— 2z cos(Sx)) dx .
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2. (6 punti)
Si calcoli I'integrale

/2 .
/ (_ 3 605(4@) de

_r/2 \(2+sinx)?
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2. (6 punti)
Si calcoli I'integrale

/2
/ ( — COSQ? +2xcos(5x)) dx .
—x/2 \SIn“z +58inx + 6



3. (6 punti)
Si calcoli

CALCOLO I

2 settembre 2008

lim
r——+00

3z2(2x — 1)sin(1/2?) — x '

(x — 1)el/=?




3. (6 punti)
Si calcoli
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lim
r——+00

22(322 4+ 1) log(1 + 2/2?) — 4x

(x+1)e /=




3. (6 punti)
Si calcoli
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lim

(22 + 1)e~ /2"

r—+00 .213(372

—1)sin(2/22) — 3z




3. (6 punti)
Si calcoli
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(1 —3x)el/®

li

r—to0 202(2z + 3) log(1 + 1/22) — 3z




